A & 0l & AF & F Al M

2008E = 204 LB
AN SEN s MUY 7S
Chol: Al2rol OFEX MAD|H D& (et &a)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SA& 195, 208, 284 187,111,552 8, 096, 732
DEE SiE dabD|et 2= 195, 175, 224 187, 080, 452 8,094, 772
AlZEOl OHA R MAD|BE RH 9, 250, 356 8, 868, 760 381, 596
SdE2dE MsZtHlE X3 7,344, 656 7, 545, 960 A 201,304
403 XM S K =01H 7,344, 656 7,545,960 A 201, 304
01 XXHHA=2EX 7,344, 656 7, 545, 960 A 201,304
O=stg 2haltXl XI& 125, 950ha* 169, 000& *30% = 6, 385, 665
OsItY 2hax=1t 37, 830ha* 169, 000& *15% = 958, 991
H ==& 44X 920, 000 640, 000 280, 000
403 XtXISHMS K201 A 920, 000 640, 000 280, 000
01 XXHHMA2EEX 920, 000 640, 000 280, 000
OSssEE &X MEXE = 50, 000
OH Z=SIE AXIA(584) = 870, 000
S Holgt ©X 44X 300, 000 300, 000 0
403 XM S K201 & 300, 000 300, 000 0
01 XXSHHA2EEX 300, 000 300, 000 0
O a4 golsteHil 41 = 300, 000
S HEALE EHHIX&A 320, 000 320, 000 0
403 XtXISHMS K201 S 320, 000 320, 000 0
01 XXISHHX2EZ 320, 000 320, 000 0
O SUCHEMAZEEIXIA 40, 000&*40, 0002 *20% = 320, 000
HAEO| X& 240, 000 0 240, 000
403 XXM SA=01H 240, 000 0 240, 000
01 XXSHHMIA2EE 240, 000 0 240, 000
OEMNEOIIXIA 300, 000& *4, 000CH *20% = 240, 000
TEE A MAMEHI S8XH 36, 000 0 36, 000
403 XtXISHMSA=01H 36, 000 0 36, 000
01 XXHHA2EEX 36, 000 0 36, 000
OxE8 & MAUI SH(IMX)
240, 000, 000& * 1Al x15% = 36, 000




= A

=Rk

cHel:

=AT )
DB M2 MADIY RS
Al2fol OPNT MAD|BH DE

SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2

NEE SHE daigt I H2FH 59, 700 62, 800 A3, 100
201 LBt=EH] 14,100 30, 800 A16,700
01 At=2teldl 14,100 30, 800 216,700

OLBt2IHI/ At 2t = 14,100
202 o4l 43,200 30, 320 12,880
01 =04l 43, 200 30, 320 12,880

OO0/ =0 = 43,200
203 B =AH| 2,400 1,680 720
03 AIBFAY =AY 2,400 1,680 720

OYRFTHI/AI MR FEH = 2,400
UFEH A FSUE ot A 30, 000 0 30, 000
308 AAIHHSOIH 30, 000 0 30, 000
01 XMXEHMa3d=2x=s 30, 000 0 30, 000

ONZE &M 2SUH gt 30, 000, 000 = 30, 000
AEtdsglig A4 20, 642, 975 13,111,970 7,531,005
s AEZLASE 1,820, 000 1, 660, 000 260, 000
403 XM XIS SA=01H 1, 820, 000 1, 560, 000 260, 000
01 MXEMA2EE 1,820, 000 1, 560, 000 260, 000

OB =HXREH(PH4) 3,500, 000, 000 *52% = 1,820, 000

[= 1, 400, 000]

== 420, 000]
ELHEH 2XALY 9, 866, 700 7,628, 320 2,238,380
403 XA XIS SA201H 9, 866, 700 7,628,320 2,238,380
01 MXSHMAEE X 9, 866, 700 7,628,320 2,238,380

OELNEH SSAL(4)

79, 000&+105, 000& *90% = 7,465, 500

[= 6. 636, 000]

== 829, 500]

OELNEM SSML(A3])

23, 000=*116, 0002 *90% = 2,401, 200

[= 2, 134, 400]

=S 266, 800]




M=
A DEE SA2 MADI8 DS
CHol: A B S8 T (Etol: &2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SIIH LA 2, 080, 000 325, 000 1,755,000
403 XX SHHSA=01H 2,080, 000 325, 000 1,755,000
01 XXISHXMAELX 2,080, 000 325, 000 1, 755, 000
OsJ1H LUA 800, 000, 000 *4IH A~ *65% = 2, 080, 000
(=2 1, 600, 000]
= 480, 000]
dEEFE ANEES HSLHMAS 1,032, 500 826, 000 206, 500
308 X HAMSOIA 1,032, 500 826, 000 206, 500
01 XXHMBLAEEZ 1,032, 500 826, 000 206, 500
OFZEENS LHAS 250ha*7, 000, 000& *59% = 1,032, 500
(=2 875, 000]
== 157, 500]
TEE I 3I| MG 346, 500 413, 250 A 66, 750
403 XX SHHSA=01H 346, 500 413, 250 A 66, 750
01 XXISHXMAE2LEX 346, 500 413, 250 AB6, 750
OXEE JIRII AFE(2, 480ha)
462,000, 000&*75 %= 346, 500
[ 231, 000]
(& 115, 500]
DSBS AES AT AFSRIR 15, 000 25, 000 A 10,000
307 2I2tol A 15, 000 25,000 A 10,000
02 QI2ZtAAMEX 15, 000 25,000 A 10,000
OrSZ S S MAT AFS XA = 15, 000
dEtdsaE 21EH XA 90, 000 90, 000 0
308 AXIHMS0IH 90, 000 90, 000 0
01 AUXNHHBANEEZ 90, 000 90, 000 0
Ozt =4t 213Hl XA
300, 000& *2, 0004 x15% = 90, 000
SsHIIE =AHEIE K& 75, 000 0 75, 000
403 AtXI XS K =01 ™ 75,000 0 75,000
01 XXISHXMAEL X 75,000 0 75,000




A s A
Hm: )
x

CHol: A B S8 T (Etol: &2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
Og=sHllE =HEIIE XA
500, 000 *5009H *30% = 75, 000
=Y XEDLES T8AME XA 60, 000 80, 000 A 20,000
403 XX SHMS K201 60, 000 80, 000 A 20,000
01 XXHHA=2EX 60, 000 80, 000 A 20,000
Orsd=g MElts =48AS
100, 000, 000& *20H 2 *30% = 60, 000
TEtdsaE AERZ0 2E XA 15, 400 0 15, 400
308 XX HMSOIA 15, 400 0 15, 400
01 RXSMIAESEZ 15, 400 0 15, 400
Orlstd=ata A0 29 XA (15048 = 15, 400
JEskM XA 300, 000 300, 000 0
403 XXM S K201 ™ 300, 000 300, 000 0
01 XXHHA=2EX 300, 000 300, 000 0
Orlstd s K& 1, 000, 000& *2, 000ha*15% = 300, 000
sIH 2=SX& 871,875 954, 400 A82, 525
403 XX SHHSA=01H 871,875 954, 400 A 82,525
01 XXHHA=2EX 871,875 954, 400 A 82,525
Ol ¢2sR ItsJ| XA = 126, 900
OZd2J18 HeEZ2Etel XIJ 880, 000& *300CH*15% = 39, 600
OooadaaNsLHIl XA = 56, 250
OA"EHH RaE2 =584
4, 000, 000& *150CH*15% = 90, 000
O4AgEHE A& 3, 000, 0002 *150CH *15% = 67, 500
O=sE2E| X& 1, 500, 000& »200CH *15% = 45,000
oH 222427 N 8, 000, 000 *250CH *15% = 300, 000
OZ X sE 22l | 19, 250, 000& *30CH*15% = 86, 625
OAEEEYH 2328 A=)
4, 000, 000 *100CH*15% = 60, 000
220 2&s £xX1# 120, 000 240, 000 A 120,000
403 X SMS K201 & 120, 000 240, 000 A 120,000
01 XXHMA2EE 120, 000 240, 000 A 120,000




= A

M=t
HdM.DE
&St

cHel: =08 XN (Etol: &2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OZ2J1Z2&s &xXIANMNY 800, 000, 000& *15% = 120, 000
SIEHI X & 3, 780, 000 0 3, 780, 000
403 X EMS K201 3, 780, 000 0 3, 780, 000
01 XXSHXNA=2EEX 3, 780, 000 0 3, 780, 000
ORIEH =X = 3, 780, 000
[= 3, 780, 000]
TEtdssE2 SSEHYE X 50, 000 0 50, 000
403 XX SHHSA=01H 50, 000 0 50, 000
0l RXSHN=EE 50, 000 0 50, 000
OEY =42 TERAN X
200, 000, 000& *25% = 50, 000
detdssEsa+=HAKA 25, 000 0 25,000
403 XXM S K201 ™ 25,000 0 25, 000
01 XXHHA=2EX 25, 000 0 25, 000
Oz st sttE2+sHIXA 100, 000, 000& *25% = 25, 000
=83 IAH HE=sIAH N 95, 000 0 95, 000
403 XX SHHSA=01H 95, 000 0 95, 000
01 XXHHA=2EX 95, 000 0 95, 000
O=ZZZX WE=sIIH XI& 380,000, 0003 *25% = 95, 000
stAas B& K& 124,126, 483 123, 508, 621 617, 862
MASSBHNF X SAIE 2l 28, 000 28, 000 0
201 LBt E| 10, 000 10, 000 0
01 AtSR2teldl 10, 000 10, 000 0
OBAESSEEIZEMAFA = 10, 000
[= 10, 000]
202 04| 18, 000 18, 000 0
01 =LHHYI 18, 000 18, 000 0
OUASSENINZAIHZ=A = 18, 000
(=2 18, 000]
HASE BEAIENEAE X 120, 482, 000 120, 480, 000 2,000
308 AXIHMSO0IH 120, 482, 000 120, 480, 000 2, 000
01 RXSMIAESEZ 120, 482, 000 120, 480, 000 2,000




2N

=Rk

cHel:

- SHRA(SA) - NHRAY - B85

0;” A} OH

— T

=20

M
2

82,000

82, 000]

120, 400, 000
120, 400, 000]

1,085, 501

684, 459

401, 042

1, 085, 501

684, 459

401, 042

=X
T

35, 337, 000& «79% =

400, 000& *3, 332ha*79% =

200, 000& *29. 565ha*79% =

W

W

1,085, 501

27,917
24, 735]
3,182]
1,057, 584
1,052,912
932, 960]
119, 952]
4,672

4, 140]
532]

684, 459

401, 042

[pal

1,600, 000

1,600, 000

1, 600, 000

1, 600, 000

& 500, 000&+3, 200ha =

1,600, 000
1, 600, 000
1, 600, 000]

1, 600, 000

99, 382

60, 690

38, 692

99, 382

60, 690

38, 692

1,700, 000 *74ha*79% =

99, 382

99, 382
88, 060]
11, 322]

60, 690

38, 692




= A

=Rk

cHel:

Stk
N2 SeE dabigt 15
sta=s S8 A

SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
sl HMEH 222 X2 831, 600 655, 472 176,128
308 AXIHHMSOIA 831, 600 655, 472 176, 128
01 AXEHIESEXS 831, 600 655, 472 176,128
Osgel oMM 285 K&
54, 0003 »154, 000E x10% = 831,600
HOUSH D18 AlE &F 27,416, 528 31, 438, 601 A4, 022,073
FIV|s Hads 25 XA 7,575,957 13, 473, 764 A5, 897,807
403 N XIEHSA=Z01H 7,575,957 13, 473, 764 Ab,897, 807
01 NXHMAZ2E X 7,575,957 13, 473, 764 A5, 897,807
OFTAY|2 s RSXEAME = 7,575,957
(D] 5, 827, 659]
(& 1,748, 298]
FIVIS H2HE XA 2,100, 840 3, 570, 000 A1, 469, 160
308 AXHHMSOIH 2,100, 840 3,570,000 A 1,469, 160
01 MAEH3dELS 2,100, 840 3, 570, 000 A1, 469, 160
OFTAIZ M HY XI&(107.5ha) = 2,100, 840
(D] 2,100, 840]
i St S Ja DN 171, 231 235, 337 A 64,106
308 AXIEHMSOIH 171, 231 235, 337 A 64,106
01 MXEHIdEx= 171, 231 235, 337 64,106
O+ HHI XI&(55. 1ha) 263, 432, 000& x65% = 171, 231
[= 131, 716]
(& 39, 515]
NS SatEs SHAENE 9, 665, 000 10, 591, 500 A 926, 500
403 MXIEHSK=Z01& 9, 665, 000 10, 591, 500 926, 500
01 MXEMA2EE 9, 665, 000 10, 591, 500 /926, 500
OXGEsS= SHAME Ad = 9, 665, 000
(@ 6, 510, 000]
(& 3, 155, 000]
HUEE 2 SHAY 1, 560, 000 0 1, 560, 000
403 MXIEHSK=201H 1, 560, 000 0 1, 560, 000
01 XXM X 1, 560, 000 0 1, 560, 000




M=
A DEE SA2 MADIE DS
ol IO SE MADIEE AL EE (crol M el)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OCJNEZ BE SHAL(1IHA) = 1, 560, 000
(=2 1, 200, 000]
= 360, 000]
ANEJUSE ML AL 2, 240, 000 0 2, 240, 000
403 XX ESHHSA=01H 2,240,000 0 2, 240, 000
01 XXSHXMAELX 2,240, 000 0 2, 240, 000
OANES0 ZSEHSAFH(16SHK) = 2, 240, 000
(=2 1, 400, 000]
== 840, 000]
NFAY SUMALY 180, 000 150, 000 30, 000
403 XX SHHSA=01H 180, 000 150, 000 30, 000
01 XXISHXMAELX 180, 000 150, 000 30, 000
ONFHY SEUM K& 2,400, 000& *500ha*15% = 180, 000
= RAE=S THHISHZ WA 129, 900 75,000 54, 900
408 XX SHHSA=01H 129, 900 75, 000 54, 900
01 XXHXMA2EX 129, 900 75, 000 54,900
Ox==x%&s MHuiztd e
43, 300, 000& *20ha*15% = 129, 900
AMETHA HIEA 22 & S8 1, 237,500 750, 000 487, 500
403 AtXISHHSA201H 1,237,500 750, 000 487, 500
01 XXHHA=2EX 1, 237,500 750, 000 487, 500
OANEMA HIUXIZEZ AIE(FTA 2 SA0E K&
82, 500, 000& *100ha* 15% = 1, 237,500
LI =USHE 2SS 2l sSRAME N 105, 000 100, 000 5,000
403 X SMS K201 & 105, 000 100, 000 5,000
01 XXHXNA=2EEX 105, 000 100, 000 5, 000
O8I =U=Ed 2SS =UHsEEAE
12, 500, 000 *56 5 *15% = 105, 000
FTAUHE Z2H 2 &2 X 210, 000 150, 000 60, 000
403 XX SHHSA=01H 210, 000 150, 000 60, 000
01 XXISHXMAEL X 210, 000 150, 000 60, 000




S A sARD
pN|

Hu:DED sM2 MADIYM 1E
ol IO SE MADIEE AL EE (Etol: &2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OFTAE =282 Foll 2Al X&
1,400, 000& *1, 000ha* 15% = 210, 000
==8 823 29 8, 000 0 8, 000
301 et a3 8, 000 0 8, 000
10 SAAHIZAZ 8, 000 0 8, 000
OE=gE23 2A(XIAIALE) 2,000, 000& *43| = 8,000
===t SIAHKA 480, 000 388, 000 92, 000
403 XX SHHSA=01H 480, 000 388, 000 92, 000
01 XXSHXMIAELX 480, 000 388, 000 92, 000
OB+R0I=It =21 H XA (55)
3, 200, 000, 000& * 1Al x15% = 480, 000
RSOt s XA 300, 000 216, 000 84, 000
403 XXM S K201 ™ 300, 000 216, 000 84, 000
01 XXSHHMA=EX 300, 000 216, 000 84, 000
OBAR0IEIl =TT X2(5)
2,000, 000, 000& * 1Al *x15% = 300, 000
W=20=sot M2HED XX 525, 000 0 525, 000
403 XX SHHSA=01H 525, 000 0 525, 000
01 XXSHXA=2EX 525, 000 0 525, 000
Olt= 3 sJF MeM&ED &X XIA(140S)
3, 500, 000, 000& *15% = 525, 000
NS SHEIMAAIE AISRIR 150, 000 150, 000 0
403 XX SHHSKA201H 150, 000 150, 000 0
01 XXHHMA=EEX 150, 000 150, 000 0
OLNZE St MLAIE ALK H
1, 000, 000, 000 * 14l *15% = 150, 000
ot =233 S4AY 150, 000 40, 500 109, 500
403 X SM S K201 & 150, 000 40, 500 109, 500
01 XXSHHA=2EER 150, 000 40, 500 109, 500
OstFl4+E 2N SANLX D
100, 000, 000& * 1071 £ *15% = 150, 000




A s
A DEE SA2 MADIE DS
ol IO SE MADIEE AL EE (Etol: &2
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
g st K& 50, 100 67, 500 217,400
403 XM S K =01 50, 100 67, 500 217,400
01 TXHHA=2EX 50, 100 67, 500 A17,400
OZHA=LE s UM 353, 813& *944hax15% = 50, 100
HUZASDSEHLAAFAS 578, 000 0 578, 000
403 XX EMSK=0| & 578, 000 0 578, 000
01 XXSHHMA2EXR 578, 000 0 578, 000
OZ=s8HE A& 700, 000, 000& * 1Al %15% = 105, 000
QL= AxXJI| N& 153, 330, 000& * 1Al x15% = 23, 000
O ZIt MAHK |4 200, 000, 000&F * 1Al x15% = 30, 000
OEQLIE THHH =X AIE 540, 000, 000& *50% = 270, 000
Oss 2271 N& 1, 000, 000, 000& * 14l *15% = 150, 000
NEZE SHCM AHIEA It 13, 738, 882 9, 832, 500 3, 906, 382
O=2segxad S&X& 7,367,500 5,912,500 1,455, 000
403 XXM S K201 & 7,367,500 5,912,500 1, 455, 000
01 XXSHHMA2EE 7,367,500 5,912, 500 1,455, 000
Oll=Z&gHeldE s4X& 7,367,500
=& RC 900, 000, 000& *5IH 22 *53% = 2,385,000
(= 2, 250, 000]
== 135, 000]
SEAE 550, 000, 000& * 137 22 *43% = 3,074,500
(= 2, 860, 000]
= 214, 500]
-H2&E1 300, 000, 000& * 1274 2~ *53% = 1,908, 000
(= 1, 800, 000]
== 108, 000]
LSEH MAAE X 110, 000 0 110, 000
403 XXM SAH=201 A 110, 000 0 110, 000
01 AUXIHMAZ2E X 110, 000 0 110, 000
ONZBEN MAXIR(3HA) 550, 000, 000& *20% = 110, 000

_10_




M=
A DEE SA2 MADIE DS
OO DEN HRHCH AHIEX iU RS (Etol: &2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
NEZ Bt MY X 3, 410, 000 0 3, 410, 000
308 XAXHHMSOIA 650, 000 0 650, 000
01 XXHMBAEXEFZ 650, 000 0 650, 000
OLNEEYN BHE 54 1, 000, 000, 0002 *65% = 650, 000
(=2 500, 000]
= 150, 000]
403 XXM S K201 ™ 2, 760, 000 0 2, 760, 000
01 XXHHA=2EX 2, 760, 000 0 2, 760, 000
ONEEHMCUHE SHAIY U F
6, 000, 000, 000& *46% = 2, 760, 000
(=2 2, 400, 000]
= 360, 000]
g B XN2A(AZ) 45, 000 0 45, 000
308 AXHHMSOIA 45, 000 0 45, 000
01 XXHMBAEEFZ 45, 000 0 45,000
oLz FAEX = 45, 000
(=2 45, 000]
a=ze|l & AtY 61, 382 0 61, 382
201 2et29| 37,382 0 37,382
01 AtR2teldl 37, 382 0 37,382
Oogaze| &AL (29HI) 37,382
—= &l = 7,200
(=2 7, 200]
-XE2El = 8, 000
[= 8, 000]
-2 82| = 22,182
(=2 22,182]
202 481 24,000 0 24,000
01 =LHObI 24, 000 0 24, 000
O3 ael JdaMg = 24, 000
[= 24, 000]




A s
A DEE SA2 MADIE DS
S NSH SeHEM AHIEX JEF 2F (ctel A&
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
B AXE2AE XA 2,000, 000 3, 000, 000 21,000, 000
403 XM S K =01 2,000, 000 3, 000, 000 21,000, 000
01 TXHHA=2EX 2,000, 000 3, 000, 000 A1,000, 000
O HA=22Ad K&
100, 000, 000& * 10091 £ *20% = 2, 000, 000
H M2HEAE At XI& 200, 000 500, 000 A 300, 000
403 XXM SA201H 200, 000 500, 000 2300, 000
01 AXSHMA=2E X 200, 000 500, 000 2300, 000
O MM EAIE AL (5000 2)
1, 000, 000, 000& *20% = 200, 000
Ol=Sefdeld AlEHe Arddl K& 150, 000 0 150, 000
403 X SMS K201 & 150, 000 0 150, 000
01 XXSHXA=2EX 150, 000 0 150, 000
OUI=23& HMal& A&
150, 000, 000& *5IH 2 #20% = 150, 000
Y FEHE A =8 297, 000 300, 000 A3, 000
201 LBt AY| 149, 000 100, 000 49, 000
01 AR 2teld] 149, 000 100, 000 49, 000
OEEE F s34 HZE = 100, 000
OUg LeED B 28 Z1 7,000, 000&+7HE = 49, 000
307 glztol s 148, 000 200, 000 A52,000
02 RIZHEAMEX 68, 000 100, 000 A 32,000
OMBE St S8 E88S
16, 000, 000x10&5+30% = 48, 000
Osgy M2 By 22 10, 000, O00& *2IH & = 20, 000
04 QIHHAIE X 80, 000 100, 000 220,000
OLNZE Eg4 H=EELEH M
40, 000, 000& *23] = 80, 000
Sy Eloldl K& 80, 000 120, 000 240,000
308 AXIHHSO0IA 80, 000 120, 000 240,000
01 AXNHHBAEXS 80, 000 120, 000 A 40, 000
Osgy slofdl K& 4, 000& *100, 000X CH*20% = 80, 000

_12_
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